
Soustraction Avec Des Zéros (I)Calculez la différence.
10 100 100 10- 5 - 92 - 35 - 3
10 100 100 10- 5 - 62 - 23 - 8
10 10 10 10- 6 - 8 - 2 - 5
10 10 100 10- 4 - 5 - 79 - 4
10 10 10 10- 5 - 8 - 10 - 7

100 10 10 100- 95 - 10 - 1 - 2
100 100 100 10- 22 - 89 - 27 - 8
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Soustraction Avec Des Zéros (I) RéponsesCalculez la différence.
10 100 100 10- 5 - 92 - 35 - 35 8 65 710 100 100 10- 5 - 62 - 23 - 85 38 77 210 10 10 10- 6 - 8 - 2 - 54 2 8 510 10 100 10- 4 - 5 - 79 - 46 5 21 610 10 10 10- 5 - 8 - 10 - 75 2 0 3100 10 10 100- 95 - 10 - 1 - 25 0 9 98100 100 100 10- 22 - 89 - 27 - 878 11 73 2
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